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S.W.B.A.T:________________________________________________________________________________________________________

Key Vocabulary Terms: 
Bessemer Process:_______________________________________________________________________________________________
Interchangeable Parts:__________________________________________________________________________________________
Assembly Line:___________________________________________________________________________________________________

New Industrial Powers 

During the early Industrial Revolution, Britain stood alone as the world’s industrial giant. By the mid-1800s, ________________________________________________________________________, and several newcomers were challenging Britain’s industrial supremacy. 

Nations such as ________________________________________________________________________ had more abundant supplies of coal, iron, and other resources than Britain. They also borrowed British technology. 

_____________________________________________________ and within a few decades became Europe’s leading industrial power. Across the Atlantic, the United States advanced even more rapidly, especially after the Civil War. By 1900, __________________________________________________________________________________. 

Like Britain, the new industrial nations underwent social changes, such as rapid urbanization. Men, women, and children worked long hours in difficult and dangerous conditions. The Factory system produced ________________________________________________________________________________________. The demand for goods created jobs, as did the building of cities, railroads, and factories.  

Technology and Industry

During the early Industrial Revolution, ________________________________________________________________ for European factories. By the 1880s, the pace of change quickened as companies hired professional chemists and engineers to create new products and machinery. The marriage of science, technology, and industry spurred economic growth. 

In 1856, British engineer ___________________________ developed a process to purify iron ore and produce steel much faster then previously thought. ___________________________________________________________________
___________________________. Others improved on the Bessemer process, so steel could be produced very cheaply. It rapidly became the major material used in tools, bridges, railroads, and sky skyscrapers.

Chemists created hundreds of new products, from ___________________________________________ to perfumes and soaps. Newly developed chemical fertilizers played a key role in increasing food production. 

In 1866, the Swedish chemist __________________________________________________________, an explosive much safer than others used at the time. It was widely used in construction and, to Nobel’s dismay, in warfare. Dynamite earned Nobel a huge fortune, which he willed to fund the famous ___________________ that are still awarded today. 

In the late 1800s, a new power source—_____________________________________________________________________. The Italian scientist Alessandro Volta developed the first battery about 1800. Later, the English chemist Michael Faraday created the first simple electric motor and the first ___________________________, a machine that generates electricity. 

The basic features of the factory system remained the same during the 1800s. Factories still used large numbers of workers and power-driven machines to mass-produce goods. To improve efficiency, however, manufacturers designed products with _______________________________________________
_______________________________________________. Interchangeable parts simplified both assembly and repair. 

By the early 1900s, manufacturers introduced another new method of production, ____________________
___________________. Workers on an assembly line add parts to a product that moves along a belt from one work station to the next. This made production faster and cheaper, lowering the price of goods. 

Transportation Speeds Up

During the second Industrial Revolution, transportation and communications were transformed by technology. Steamships replaced sailing ships, and railroad building took off. In the United States, a __________________________________________________________________________________________________________________. 

In the same way, Russians built the _________________________________, linking Moscow in European Russia to Vladivostok on the Pacific. Railroad tunnels and bridges crossed the Alps in Europe and the Andes in South America. 

The transportation revolution took a new turn when a German engineer, ________________________________
________________________________________________. In 1886, Karl Benz received a patent for the first automobile, which had three wheels. A year later, Gottlieb Daimler introduced the first four-wheeled automobile. People laughed at the ___________________________ which quickly transformed transportation.

The French nosed out the Germans as early automakers. Then the American ___________________________ started making models that reached the breathtaking speed of ______________________________. In the early 1900s, Ford began using the assembly line to mass-produce cars, making the United States a leader in the automobile industry. 

The internal combustion engine powered more than cars. Motorized threshers and reapers boosted farm production. Even more dramatically, the internal combustion engine made possible the dream of ___________________________.  

In 1903, two American bicycle makers, _____________________________________________, designed and flew a flimsy airplane at Kitty Hawk, North Carolina. Although their flying machine stayed aloft for only a few seconds, it ushered in the air age. 

Soon, daredevil pilots were flying airplanes across the English Channel and over the Alps. Commercial passenger travel, however, __________________________________________ 

Rapid Communication

A revolution in communications also made the world smaller. An American inventor, __________________
__________________________________________________, which could send coded messages over wires by means of electricity. His first telegraph line went into service between Baltimore and Washington, D.C., in 1844. By the 1860s, an undersea cable was relaying messages between Europe and North America. 

Communication soon became even faster. In 1876, the Scottish-born American _________________________
____________________. By the 1890s, the Italian pioneer Guglielmo Marconi had invented the ______________.  

